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FE—FF ITDIEFER

B &

(CREFBEBHFRFANT KREFBEANETHOER . HEH AR . BTR.BEEX LA R.IBENEH
150~170 FM HIER KNS E REMHE, BEERFLAE MEERANAXAY . ASHEEHORR
AR FEERT o0 S A HE.

(REFHEBEAZERKANIZTT AR RAEWT -

T /1 3 ## (Listening Comprehension)3t 20 31, % X &f (@] 20 438 . X —FB A EIEF T : A 15 (Section A)F
10 B, BH & —AXE,.EFEHE —1 04, B ¥ (Section B)F 10 B . 43 EHE=_THhHHZE . B85
E=ZNEH, BEH—R4A. EH RN

1. XEBH ARG E R — BT E

2. BRWAMB B BERIE BOR RIRE;

3. FTARBABHEAFRAARACEKRAENER.

1995 F 7 AM 1996 £ 7 AL T W AEZ XA HHAEL, Bl . 07 B H % (Spot Dictation) IZ A AW E
(Compound Dictation) ,3§ i1 T W7 15 i 89 F WA .

% — T XtTiE

— B SH
1. @S
HiE—BR—B—LZEFTEERZAMNS  REHE=ZFRTEATHTRRE B E— BB EFHK
Bela)4) , £ E A who,why,what,when,where,how many % {7 FF k.
Dwhat FiRER“BA A7 SR A7 WA A" HAad X “Hasw”. “HaBE"%. flw.
(1)What can be concluded from this conversation?
(2)What did the woman suggest?
(3)What is their relationship?
(4)What does the woman mean?
(5)What is the woman’s reply?
(6)What is implied by. .. ?
2)when Z XM “fHArfE. B# 7. F 6t A what time #ik, fii0.
(1)What time did the man arrive?
(2)When will the woman sleep?

(3)When does this conversation take place?



(4)When is the store open on weekdays?
(5)What time does the man start work today?
3)where AIRREA“IHEABRENHHT "R EARE LM, Fl.
(1)Where does the conversation most likely take place? '
(2)Where is the man working?
(3)Where does the woman want to go?
(4)Where is the man now?
Owhy FRREA“FEE"R“BN”. Hln.
(1)Why did the woman have to talk?
(2)Why did the man win?
(3)Why didn’t he attend the meeting?
(4)Why did the woman lose weight?
(5)Why is the man surprised?
(6)Why is the woman tired?
5)which ZAARRERMA“B—AKEAREROIERN”; B A ARRIAINBAHRED”. #lwm.
(1)Which of the statements about the conversation is true?
(2)Which class is the woman looking for?
(3)Which of the following is not mentioned?
(4)Which did he prefer?
6)who(whom)Z FRREXM FEER —FTHFH, MENFTZEMXREXMERYT RBAME A
ﬂﬁu :
(1)Who is the man?
(2)Who is the woman likely to be?
(3)Who works the hardest?
(4)Who does the man want to see?
(5)Who was injured?
(6)Whom are they talking about?
Dhow ZRAXRRA“PRFNOFTXN.FTERZELR M EEHWABE”. flm.
(1)How was the womaﬂ'aoing in the course?
(2)How did the man feel?
(3)How did the man go to Canada?
(4)How can the man get there?
8)how many,how much k&R “ZL”, QEFEEPAN/P”.“EL&R”.“Z L+ BA07 "%, Fln.
(1)How much do the jackets cost?
(2)How much more did the woman pay for her suitcase?
(3)How many people are mentioned?
B ERASLASN, BIR L] BB — AR BE (@) 4] th BL, 5K LA whose , whom FF 3k B9 4§ Bk 5E | 4] , {8t 3R A% T

RN,

LL\

‘gt W EP A EB L what 3B AR A BE , 44 40%~50% ; LA Rt 5E 5117 FF 3k 04 1 T A8 X4 48

2 RAEFARRMBHET

D F 5+ 8 (Numbers and Calculation)
BESHBERTAMKPHREHANER, LFESREXBAX TEMAE . XL BRYH L FH P

HFHEHH 4RI EHBEOLEET,.FIMRAHEAKENE R NBREOKR.F.0 .8, 58 . BRNSS
S RIE S % .5 BARYE BT T bR SR B A9 30 R B JE P RO — I, ZE T PR G T B E IE W A T

MR AR B, ENXKBA UG B st WA R E TR R BHE TR, R

BOEERFHRAME.
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EREESHENMBETENBE S, TEHRPELSHARIEF . THXLEBEFAENZEY
XREBBAXE. MXERFZRPXREERHL S (more, less) 3B B (late, early) . P8 (fast,slow) . B
JG (before,after) Z 2 B9 251 . Bl R S A W) 42 15 R R » HHR B A 35 3 B AW E VR R X 247, A6
BB FRHERNEERTETHREIAIRTFINEFRERENZAXEANGE LA,

i1

W :I waited until 9:20 for you.

M :I must have arrived six minutes after you left.

Q:What time did the man arrive?

A.9:20. B.9:14. C. 9:26. D. 9.06.

XEBEIMIEAETRAE, AEWTFEEED9:207F1“6 87X T XE2E L. BRE after TRR
BB A Z B R R RBETMEZH, ETURPE S CXAMER.

EIFEPRAMETRARE, FEFBRAMEXRWIE A E.BIAMA RS . — U RRIE 0. @80 &
XH A, MERBL BEEXOABRE EX A RLEX K, 7E— 248 50 T & 2 AR 9 X8 K95 X F [ 8
e, TE—FIREATX—A:

B 2

W :What time did you get to the station?

M : Ten-thirty. But I was ten minutes late.

Q:What time should the man get to the station?

A.10:40 B. 10:20 C.10:13 D.10:30

RIFE LH AU late X A7), SR U7 B B9 — 348 10:30, 8258 Z 4838 10 4048, 2 H 10:20 X4
ER.BZEFRMO FRETHNENS XAREANEEBREFET XETEAMESBSHERNER.A
A [a] /) & IE % B 8] .

Exercise 1
1. A. 15 minutes. B. 20 minutes. C. 41 minutes. D. 35 minutes.
2.A.9:20. B.9:14. C.9:26. D. 9:06.
3. A. At 10:00. B. At 9:00. C.At 9:15. D. At 9:30.
4. A.Tt is a little after 1:15. B. It is 15 minutes faster.
C. It is exactly 1:15. D. It is a little before 1:15.
5.A. At 10:00. B. At 2.00. C. At 12:00. D. At 8:00.
6. A. Ten o’clock. B. Nine-thirty. C. Nine o’clock. D. Five o’clock.
7.A.12:15. B. 1:00. C.1:10. D. 12.30.
8.A.7:10. B. 8:15. C. 7:45. D. 8.00.
9.A. At 8:35. B. At 8:05. C. At 9:10. D. At 8:20.
10. A.9 a.m.to 12 p. m. B.9 a.m. to 10 p. m. C. Closed. D.10 a.m.to 6 p. m.
Q) FRETHHEE

ERFEHERRBP . KEERAMBEE LT & BEENENARRE. AEIEBROEF B
e, AR CEMEFENTE.

i1

M :I’m responsible for buying the fruit for the children. I’m delighted to find that oranges are in season.

Give me eight couples,please.

W .1 hope that they taste as good as they look.

Q:How many oranges did the man buy?

A. 8. B. 10. C. 16. D. 14.

Febrit it HABBHXBAMBEAR, TERVTEREMRFPHEXEFAECNZIPNER . ARZ
MRXHEFZEAGXFZARAREERE OB XN LR JEFE BRI BIE R RRG . ¥ F 8RR 5
#07F :times,twice,couple, percentage, pair ,a pair of , half, half of ,double ,quarter,one-third /sixth. . . of %, 3R {1
AT AR 8 5% 48] (A ) S 8 1€ X35 P BT SR Bt BF AT BR . 0B 1 K9 eight couples, 88/ 8 X 2=16,

Bl 2

e 3



M :How many people showed up for the meeting yesterday?
W :Twenty were expected to come,but the number was doubled.
Q:What’s the actual number of people who attended the meeting?

A. 25. B. 20. C. 40. D. 35.
&5 R C. (20 § 2 £% (double) =40)

Exercise 2
1. A. 3 times. B. 8 times. C. 6 times. D. 5 times.
2. A. About 40. B. More than 40.

C. Half of the student body. D. About 20.

3. A. Six. B. Eight. C. Four. D. Five.
4.A. $8. B. $7. C. $4. D. $3.50.
5.A. $50. B. $200. C. $150. D. $ 250.
6. A. $ 240. B. $200. C. $ 300. D. $120.
7. A. One. B. Two. C. Three. D. Four.
8.A. $16. B. $8. C. $32. D. $ 64.
9.A. $40. B. $ 80. C. $14. D. $ 28.
10. A. 6. B. 2. C. 4. D. 10.
QREEREITER

XE—FMEBEEANTEER BY UAETENMBHYRB L. XEFRFIRNXRLERE, 5/
FEWENNZEH M AL T REEXNFXHEPORT HEREEC ARG, WL EES KM E
SRS RERRBERMPER  BEA - MERAOBFELR.

B 1

W :They wanted you to pay $ 500 for such an old car. Oh,My!

M: Yes. But finally they agreed to knock 10% off the price. So I bought it.

Q:How much did the man pay for the car?

A. $ 500. B. $ 550. C. $ 450. D. $50.

EHEERNETP, RECTRI/EMANET, LR FIF knock of “MMEFRE"HN T . BIATEHER:
$ 500— $ 500X10%=$ 450,

i 2

M :We’d like two rooms with a bath between,and a large room with a double bed.

W :Very good, sir. The two rooms are twenty dollars a day, and the large room is sixteen dollars a day.

Q:How much would the man pay for the rooms if he and his family stay for three days?

A. $ 108. B. $ 190. C. $ 40. D. $ 36.

WMERE, EETERESAHMFIE. BENERERAZIETOTXRAX . BERES T

two rooms: $ 20X 3= $ 60

a large room: $ 16 X3= $ 48

two rooms and a large room= $ 60+ $ 48= $ 108

Exercise 3

1. A. Ten dollars. B. Twenty dollars. C. Thirty dollars. D. Forty dollars.
2. A. $4.30. B. $1.40. C. $8.60. D. $ 4. 60.
3. A. $300. B. $ 200. C. $450. D. $ 1800.
4.A. $27. B. $50. C. $25. D. $ 30.
5. A. One dollar and seventy-five cents. B. Two dollars and fifty cents.

C. One dollar and fifty cents. D. One dollar and fifteen cents.
6.A. $60. 60. B. $ 84.00. C. $66.00. D. $ 66. 66.
7.A. $4.0C. B. $6.00. C. $ 8. 00. D. $12. 00.
8. A. $16.00. B. $12.00. C. $ 4. 00. D. $6.00.
9. A. 9 yuan. B. 12 yuan. "~ C. 18 yuan. D. 36 yuan.

Ll 4.



10. A. $ 30. B. $90. C. $60. D. $ 20.
(OEF GEHEFEHN
ERFESHEOREP, BARTA EHOERHZED HE A BERE LN P 3 L FETHES

A EREHREF GERORT AUARBE L,

Bl 1

M:Is that 555—3578.

W :No,It’s 555—5387.

Q :Which number is the man calling?

A.555—3578. B. 555—5387. C. 555—3587. D. 555—5378.

X 4 XI5 BAR T B, (B 5 ARk oR RO 4B B0 TR T AR G DO A T 1 A R R L R X B R I i

BN HITFE, HER TR . BT 35 35 AR R B9 5O B L 2B X T E T S . B E AR 4% R BLAE . s
B, B4 — AT 555—3578 B, AT 7E A 351k E M., IR EISE — A $F 555—5387 B, Al B FE L W, Xk
HiEFEPRA HIL C,D ﬁk%.ﬁ)ﬁﬁ*ﬁﬁrﬁlfm,ﬁ:ﬁgﬁ A,

5] 2

M :Do you live in Room 213?

W :No. T live in 230.

Q : Which room does the woman live in?

A. 312. B. 213. C. 321. D. 230.

R LG, AIEE DI, WML IBEREAEBLMHEIEH RS XRBERF HTRFTENER.
2) A5 % 14 (People and Event)

EWAEBURP . BRAYMBEHAOBEE SFERASHH . EXFAYNRKES, AMKR T E

B RMEREE . SHMANRXR IEBNSESRLHEE R VX KB, R AP FFE . F 8 IR
iR EESRE R H EEHFABAZBMXRBEEHSE. WRERERBEFEESH, MIE
WAREREETE. KRB+ 4EBRETH A UAARE AT RIBXEHORFTHET. 5, XS
B RARERERN, TRHEFUER. REZEHERONR.

#i 1

W :Can I help you,sir?

M:Yes. Do you have this coat in a larger size?

Q:What is the woman?

A. A tailor. B. A shopper. C. A sales clerk. D. A student.
BREMA LG, RATE B HXEDE EZ /X5 A S — 40— NEE 2 Bk ; 7207 ) 8] & 10

Can I help you,sir? ZJ&, RATERBEAT U HX —MERZEETMEME R R ZE K, BMHER A # D %

T

. RIEMRFERE,EH C.

B 2
M :You were absent from class yesterday,Sandy. Where were you?
W :I couldn’t come,Mr. Hart. I hurt my foot and my mother took me to the doctor’s.

Q :What is the probable relationship between the two speakers?

A. Doctor and patient. B. Teacher and student. C. Father and daughter. D. Classmates.
MBTHE B4R 9 “class” B Jg & Fr R B9 “Mr. Hart " 0] LAFENT £ FE HH & K B,
Exercise 4
1. A. Winter is his favorite time for sports. B. Sports are quite important to him.
C. He should be more enthusiastic. D. He plays better than he used to.
2. A. Look for another seat. B. Repeat the question.
C. Remain standing. D. Sit down.
3. A. A dentist. B. A dietician. C. A cook. D. A tailor.
4. A. Don’t subscribe to the journal. B. Read a different journal.
C. Have a good journey. D. Find a better engineer.
5. A. He hadn’t finished his sketches. B. He had finished his house.



C. He could draw beautifully. D. He wasn’t really dreaming.

6. A. Repair the other door. B. Visit some ruins.
C. Have an outdoor party. D. Catch a Saturday train.

7. A. Eat cabbage. B. Put the car in the garage.
C. Throw out the rubbish. D. Don’t take out anything.

8. A. Where Sally lost her money last week. B. What Sally had done to break her arm.
C. How Sally is feeling. D. What Sally’s job is. |

9. A. Finish putting her book away. B. Stop what she is doing.
C. Finish her work elsewhere. D. Help the man a little later.

10. A. He enjoys watching people dance. B. He doesn’t think dancing is very hard.
C. He dances very well. D. He might not really like dancing.

3) & it 5 5K (Offer and Request)

WMREH, EHRRBEESHFRI—XWOEE X —ARENOFRE N EN— T RRRUREE,. AT

FRBH ERRIES. AN —FRRIERWB, BT MERSRAEREL.

Bl 1

M :Hello,can you tell me how to read this word?

W :I’m not certain. Let’s look it up in the dictionary.

Q:What does the woman mean?

A. She knows. B. She has a dictionary.  C. She is not sure. D. She has seen it.
ER:C

#l 2

M:Let me get you some tea or coffee,but what would you prefer?

W :Just a glass of soda will be OK.

Q:What does the woman want to have?

A. Tea. B. Wine. C. Soft drink. D. Coffee.

ER.C

HEIFX R RBYXBREHE T EF N FERMEBMI S, B AR AP RBTIERM T EG—TBRT

fta Bt aFBERFAHTRE. ERAEBHHER"E5RE"R? TEANE-LFXNIH.

Would you tell me...? Would you like me to...?

_Would you mind...? ‘Will you...?

~Canyou...? Why not...?

~ How about...? Do you want me to...?

Exercise 5
1. A. The woman. B. The man. C. The daughter. D. The helper.
2. A. To water the garden. B. To water the flowers. C. To fetch water. D. Nothing.
3. A. To paint the room. B. To sell the house.
C. To change the furniture. D. To paint the furniture.

4. A. A film. B. A play. C. A seat. D. A boyfriend.

5. A. To make an arrangement for dealing with the problems.
B. To help her solve the problems.
C. To deal with the hardest problem.
D. To deal with the most important problem.

6. A. Her native place. B. His hometown. C. The summer resort. D. The hills.
7. A. The pop music is preferable. B. The pop music is not preferable.
C. The classical music is not preferable. D. Neither of the two is preferable.

8. A. The woman was buying some jam and sardines.
B. The man was offering to give his seat to the woman.

C. The man and the woman were offering seats to each other.

. 6.



D. The man suggested the woman get off the bus.
9. A. The man believes the soft drinks are different from soda.
B. The man likes to have soda.
C. The man would rather have Coca-Cola.
D. The man declined the offer by the woman.
10. A. The man suggests the baby be taken to the next room.
B. The man suggests the woman take the baby out of door.
C. The man suggests the woman be quiet.
D. The man suggests the woman shut the door.
4) #b 55 5 75 [6] (Place and Direction) )
ANEW AR PR ST FEREE L5F—E A R EEY RRE 1 RS 4R 4 3 8 X
B R AERRESBRPEEREN, AN E N KEREXNEOASA SRR E.
—BERT SRR RE A S ERAMNHE AIXEEFRREZHNTEES SRR —-BRE
ERSEMEXENEH L.
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W :How long have you known Susan?
M :I’ve known her about three years. I met her in the library where we used to read , but now I can only see
her on the campus occasionally.
Q:Where did Susan often go to read?
A. The library. B. The college. C. The campus. D. The classroom.
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W :Why didn’t your wife come here together with you for dinner yesterday?
M :Oh,she was just back home from Korea yesterday and was too tired to come. She also visited Japan,
Singapore and Malaysia.
Q : Which country did the woman visit last?
A. Korea. B. Japan. C. Singapore. D. Malaysia.
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Exercise 6

1. A. At a library. B: At a university class. C. At a bank. D. At a store.
2. A. At a newspaper office. B. At a dry cleaner. C. At a dentist’s office.  D. At a hospital.
3. A. At work. B. At a bank.

C. At a restaurant. D. At an apartment building.
4. A. At a laundry. B. At a car wash. C. At a beauty shop. D. At a garage.
5. A. At a gas station. B. At a bank. C. At a hospital. D. At a school.
6- A. At home. B. In a hospital. C.In the doctor’s office. D. At a hotel.
7. A.In a bakery. B. In a taxi. C.In France. D. In a post office.
8. A. At a hospital. B. At a political convention.

C. At a graduation. D. At a funeral.
9. A. At a wedding. B. On a honeymoon. C.1In Florida. D. At an airport.

10. A. They are going to their house which is air-conditioned.
B. They are going to the cinema.
C. They are going to buy an air-conditioner.

D. They are going to watch a play.



5)1# = F13¥ 5 (Situation and Background)
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M :Laura is getting a part-time job next week.

W :Shouldn’t she concentrate on doing her school work instead?

Q:What does the woman suggest?

A. Laura really needs a full-time job.

B. Laura already has a job working for the school.
C. Laura needs to spend her time studying.

D. Laura should think about becoming a teacher.
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Bl 2

W :I don’t imagine you have the interest in attending that lecture on sculpture.

M:I do now that you remind me of it.

Q:What do we learn about the man from the conversation?

A. He’d rather not go to the lecture.

B. He doesn’t mind if the woman goes to the lecture.
C. He wants to hear the lecture.

D. He’s heard the lecture before.
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Exercise 7

1. A. He can’t read. B. He is in a great hurry.
C. His hands are dirty. D. The letter is not for him.

2. A. She is going to see the performance. B. She is going to the East Auditorium.
C. She is going to a lecture. D. She is going to the theatre.

3. A. She likes it. B. She disliked it.
C. She has no opinion. D. She hadn’t heard about it.

4. A. A temporary job. B. A permanent job.

C. Some money for the vacation. D. Some money for the university fees.
5. A. She has got a new job. B. She has decided to work in the field.
C. She has decided to look for a job. D. She thinks it is easy to get a job.

6. A. Because Bob lived alone. B. Because Bob was not wearing a ring.
C. Because Bob was a man of marriageable age. D. Because Bob was unmarried.

7. A. Mary. B. Bob. ‘ C. All the students. D. Tom.

8. A. Jim is older than Tom. B. Tom is older than Jim.
C. They are of the same age. D. They aren’t in the same class.

9. A. Borrow the typewriter. B. Visit the woman.
C. Go home soon. D. Read the woman’s paper.

10. A. He agrees with the woman about the cherries.
B. The cherries aren’t grown here.
C. There aren’t any cherries today.
D. He wants to know if the cherries are really good.
6) H. 3 5 1% # (Comparison and Choice)
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Bl 1

W .Jim dislikes the book he read last week. What do you think of the book?

M:Yes, and I dislike it no less than he.

Q:What do we learn from this conversation?

A. The man likes the book more than Jim.

B. Jim likes the book more than the man.

C. Jim doesn’t like the book ,but the man does very much.
D. Neither Jim nor the man likes the book.
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il 2

M :My baby is older than yours,but my sister’s baby is younger than yours.

W :But Kate’s baby is older than yours. Bringing up kids is a hard job,really.

Q:Whose baby is the youngest?

A. Kate’s baby is the youngest. B. The man’s baby is the youngest.
C. The woman’s baby is the youngest. D. The man’s sister’s baby is the youngest.
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Exercise 8
1. A. Tom’s. B. The woman’s. C. Bob’s. D. The man’s.
2. A. The prettier one. B. The new one.
C. The one that the man likes. D. The more comfortable one.
3. A. The man’s living condition is very good actually.
B. The woman’s living condition is better than the man’s.
C. The woman’s living condition is equally miserable.
D. Both of them are living in a very good condition.
4. A. The man has never seen his uncle being kind. B. Only the man’s wife has found his uncle kind.
C. The man likes his uncle,but his wife doesn’t. D. The man’s uncle is the most kind man.
5. A. The man’s sister doesn’t study hard. B. The man’s sister studies very hard.

C. The man’s sister keeps a good record in study. D. The man’s sister is now at middle school.
6. A. The woman didn’t go dancing at college at all. B. The woman rarely went dancing at night.
C. The man was invited to dance at night. D. The man danced far deep into the night.
7. A. Mr. Black speaks Japanese best. B. Mr. Black speaks French best.

C. Mr. Black speaks Chinese best. D. Mr. Black speaks Spanish best.
8. A. The woman says a doctor must not be careful.

B. The man means most doctors are not serious enough.

C. The best hope is at the doctor’s hands,says the woman.

D. As for the doctor,the woman means the more careful ,the better.
9. A. Tom and Kate will be away from home tonight.

B. They’ll ask in a babysitter.

C. Tom’s talking on a phone.

D. They are going to a concert.

10. A. The nine-band radio can receive programmes clearly.
B. A two-band radio can receive programmes with jamming.

C. Both kinds of radios can receive short wave programmes.



D. The two-band radio is a world receiver.
B i% 5 %44 (Subjunctive and Conditional)
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W :If I were you, I"d be more careful about locking the door at night.
M :Don’t worry,no one will break in.
Q:What does the woman think will happen?
A. That the man will not b;able to sleep.
B. That someone will enter the door while the man is sleeping.
C. That the lock on the door will break. ‘
D. That the man will not be able to come back.
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M :If someone were trying to break into your house,what would your reaction be?
W .1 would just have to sit by the telephone if he did.
Q:What would she do if someone was trying to break into her house?
A. Lock the door. B. Call the police.
C. Hide behind the door. D. Get out from the window.
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Exercise 9

1. A. They will buy a new house after they return from their vacation.

w

. They will not buy a new house because they do not have enough money.

C. They will not buy a new hofise because they cannot find a smaller one.
D. They will buy a new house that they found while they were on vacation.
2. A. He was angry. B. He wasn’t angry. C. He was worried. D. He saved her face.
3. A. They fail to reach the party in time. B. They are at the party now.
C. They can’t turn around. D. The party is over.
4. A. Looking for a new job. B. Starting her vacation.
C. Quitting her job in a few days. D. Complaining to her friend.
5. A. She hasn’t been well lately. B. She feels unhappy without the TV.
C. She wants an expert to repair it. D. She wants him to fix it at once.
6. A. Mary works very hard. B. The examination is too difficult for Mary.
C. Mary will pass the examination. D. Mary will probably pass the examination.
7. A. The woman will cook. B. He won’t buy enough.
C. He’ll get in a bad mood. D. He will have to buy food for the dinner.
8. A. Overseas. B. Travel agency. C. To the bank. D. Anywhere.
9. A. The man will come with her. B. She has too much work.
C. She promised herself. D. No work is due the next day.
10. A. A dramatist. B. An actor. C. A worker. D. A farmer.

8) JR A 5 45 R (Cause and Effect)
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Bl 1

W : This room is so stuffy that I can hardly breathe.

M I think they should ban smoking.don’t you think?

Q:Why is the woman complaining?
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